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QUESTION 1

What are two guidelines when designing campus networks? (Choose two.) 

A. The design must account for high control plane resources. 

B. The design must allow for network resource availability. 

C. The design must protect customer resources. 

D. The design must allow for high bandwidth. 

Correct Answer: BC 

 

QUESTION 2

What are two features used to enable high availability? (Choose two.) 

A. VRRP 

B. chassis clustering 

C. full-duplex mode 

D. SNMP 

Correct Answer: AB 

 

QUESTION 3

You are asked to evaluate a WAN design for a corporation with a focus on cost, security, and the ability to 

have direct adjacencies between your remote sites. 

Which two solutions would meet the requirements? (Choose two.) 

A. MPLS Layer 3 VPN 

B. GRE tunnels over the Internet 

C. VPLS Layer 2 VPN 

D. IPsec tunnels over the Internet 

Correct Answer: CD 

 

QUESTION 4

What are two main data center profile solution templates? (Choose two.) 
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A. adaptive 

B. transitional 

C. high-performance computing 

D. enterprise IT 

Correct Answer: CD 

 

QUESTION 5

You are asked to provide a design proposal for an enterprise customer that currently has a three-tier 

switching infrastructure. The customer wants your design to collapse their Layer 2 infrastructure into two 

distinct layers. 

In this scenario, what are two benefits of moving to the new infrastructure? (Choose two.) 

A. The total number of devices is increased. 

B. The overall network performance is increased. 

C. The number of connections between devices is decreased. 

D. The number of protocols used is decreased. 

Correct Answer: BC 

 

QUESTION 6

Why would you recommend Junos Space Security Director in a network design? 

A. It simplifies Ethernet switch deployments and provides rapid operation of campus and data center networks. 

B. It provides the power to quickly design, provision, and deliver MPLS and other Ethernet services. 

C. It helps administrators to more quickly and intuitively manage all phases of a security policy life cycle. 

D. It provides detection, isolation, and resolution of network faults and incidents. 

Correct Answer: C 

 

QUESTION 7

What should be included in a network design to improve resiliency? 

A. climate control systems 

B. redundant power supplies 

Latest JN0-1101 Dumps | JN0-1101 PDF Dumps | JN0-1101 Exam Questions                                3 / 7

https://www.certbus.com/jn0-1101.html
https://www.certbus.com/jn0-1101.html
https://www.certbus.com/jn0-1101.html


https://www.certbus.com/jn0-1101.html
2024 Latest certbus JN0-1101 PDF and VCE dumps Download

C. out-of-band management 

D. in-band management 

Correct Answer: B 

 

QUESTION 8

What does the network MTTR measure? 

A. the length of time it takes to design the network 

B. the length of time to build the network 

C. the length of time to repair the network 

D. the length of time it takes to reboot the network devices 

Correct Answer: C 

 

QUESTION 9

What is the first step of business continuity planning? 

A. know your network 

B. test the plan 

C. assess the risk 

D. formulate the plan 

Correct Answer: A 

 

QUESTION 10

You are asked to secure the routing engine of all Junos devices in your design. The design should not 

affect transit traffic. 

Which action will accomplish this task? 

A. Use a firewall filter on a revenue port. 

B. Use a firewall filter on the loopback interface. 

C. Use a firewall filter on the fxp0 interfaces. 

D. Use a firewall filter on the management interface. 

Correct Answer: B 
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QUESTION 11

You are designing a solution to allow secure communication over the public Internet for a corporate WAN 

deployment. For business policy reasons, all branch-to-branch traffic must first pass through the corporate 

headquarters. 

Which solution will work in this scenario? 

A. fill mesh IPsec VPN 

B. hub-and-spoke GRE VPN 

C. Layer 3 VPN 

D. hub-and-spoke IPsec VPN 

Correct Answer: D 

 

QUESTION 12

Click the Exhibit button. 

Which device plays the role of authenticator in an 802.1X design as shown in the exhibit? 

A. Device A 

B. Device B 

C. Device C 
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D. Device D 

Correct Answer: C 

 

QUESTION 13

In a Virtual Chassis Fabric, which two platforms are supported? (Choose two.) 

A. EX Series 

B. SRX Series 

C. MX Series 

D. QFX Series 

Correct Answer: AD 

 

QUESTION 14

Click the Exhibit button. 

Referring to the exhibit, you are designing a Layer 2 data center and you want to make sure that all the 

links between the access tier and the aggregation tier are used. 

What should you do to accomplish this task? 

A. Use VRRP on Agg-1 and Agg-2. 

B. Place Agg-1 and Agg-2 in a Virtual Chassis. 

C. Use RSTP on all devices. 
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D. Use BGP load balancing on all devices. 

Correct Answer: B 

 

QUESTION 15

What are three components used to enforce 802.1X in your design? (Choose three.) 

A. authenticator 

B. VoIP phone 

C. authentication server 

D. supplicant 

E. edge router 

Correct Answer: ACD 
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